Py N N7 X
EET  APBES B
b b
Hmu TRIE S aE . PR R R Rl DT P f o
et £ BB AA—R £
[ﬂmmuﬂm ek e (ﬂnxumm S S
T fzmazt = - i AR _éj i E— - - . [ [ . . [E— § - >
el
] e o —
5 — £
1  / ]
1 ] 1 [_1 A [ I
e
a 3 ¥ | & & a s ‘ 5 g * F E_TE_
H : 8 3 £ b £ | K
| i | i —
®) | ® |
P
El \\ we e
; b= - == b
' kY { T N
[ g | — I &
| . FTL o TEmen] - o] [ | TEH e e o edam el | "
Loz LammmmE Cormpmass ol Shislge 2 I ’ e
LI = —— —— LIET & c—o Eﬂ LL:j;J Aﬂ::?zfﬁéi<rfﬁﬁr<»A ~
PN RPN RS v — 1 |
B L )
300m 39.0m 39.0m 39.0m | 39.0m 39.0m 39.0m 39.0m |
234.0m |
MWCITHBE, RELE, BiRM—F—,
Y—ERa—F—  AVH—RR—REEL
1FEFmEBE S=1/2000 2F5FmE S=1/2000
———
£
p— ™ el
BAMEIBAR— 2 §
! = T e Ime =t £ —! 7_;— I 39.0m 39.0m 39.0m | 39.0m 39.0m 39.0m I
234.0m
&
S
N a w -—
a—alffE R S=1/2000

)
Nty
L
30.4m
94.4m

BEMLEL
BEREY
BRI

|

i

&

3

!
50m| 13.0m|

OE. i f
I E— & am | AT
=1
£l ~
F I 1 I S _|
o™
i il wigazs<— 2 1 | [ £
= T — e U | —— e &= & 30m_ 29.0m 30.4m 290m _ 30in
= 1 — T 20.3m 94.4m 17.0m
r
o | b B E— h—hErE = S=1/2000
B e B | [ @] M ] O 1/ avuy
] -
39.0m 39.0m 39.0m 39.0m 39.0m 39.0m
2340m

SETE@EmE S=1/2000



